
Normal stresses calculation

N= 2670 kN (T)

Mx= -240 kN.m



Normal stresses calculation

𝐴 = 2002𝑚𝑚2 − 1602𝑚𝑚2 = 0,0144𝑚2 

𝑦𝐺 = 100 𝑚𝑚 

𝐼𝑋 =
1

12
200. 2003 −

1

12
160. 1603 = 78,7. 10−6 𝑚4 

Inertia calculation using additive properties



Normal stresses calculation

𝜎𝑇 =
𝑁

𝐴
−

𝑀𝑥𝑦

𝐼𝑥
=

2670 𝑘𝑁
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−
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N= 2670 kN (T)

Mx= -240 kN.m

𝜎𝑇 = 185 𝑀𝑃𝑎 + 3049,1
𝑀𝑃𝑎

𝑚
𝑦



Normal stresses calculation

N= 2670 kN (T)

Mx= -240 kN.m

𝜎𝑇 = 185 𝑀𝑃𝑎 + 3049,1
𝑀𝑃𝑎

𝑚
𝑦

   𝑦 = 100 𝑚𝑚   → 𝜎𝑇 = 490,2 𝑀𝑃𝑎 

  𝑦 = −100 𝑚𝑚 → 𝜎𝐶 = 119,4 𝑀𝑃𝑎 

185 + 3049𝑦 = 0 → 𝑦𝑓𝑛 = −60𝑚𝑚 



Calculation of  Normal stress



Safety coefficient

σmax (tensile) = 700 MPa CS1 =
σmax

σservice
=

700

490
= 1,42 

CS = min CS1, CS2 = 1,42 

σmax (compressive)= 500 MPa  Cs =4,16

Maximum compressive stress = 120 MPa

Maximum tensile stress = 490 MPa


